
Section 4 - E
lectrical

Page  65 - 12

 P.O. Box 846 - Farmingdale, NJ 07727 

♦   Tel: (800) 631-2153
Customer Service

www.crownengineering.com
♦  Fax: (888) 645-7278

Part Number: 41800
Description: Ignition terminal kit - “Mini-Kit”
Packaging: Sturdy hinged plastic box	
Includes: 
20 - 50000 Cage	
12 - 50100 Spring	
20 - 50200 Ring	
10 - 50400 Angle Cage	
12 - 50600 Stud ferrule	

		
Part Number: 41805	
Description: Transformer kit	
Packaging: Sturdy hinged plastic box	
Includes:
6 - 45580 Transformer clip	
6 - 50800 10-32 Hollow thrd. stud	
6 - 51550 Cage/Cage	
6 - 52210 Cage/Buss bar clip	
6 - 52230 Hex/Buss bar clip	
6 - 52260 10-32 Hex base stud	
6 - 52290 Spring adapter	
6 - 52300 Spring adapter	
4 - 52315 Binding post	
4 - 52340 10-32 Spring contact	
6 - 52350 10-32 Contact post	
		

Part Number: 41810	
Description: Ignition terminal kit - “Deluxe”	
Packaging: Sturdy hinged plastic box	
Includes: 
12 - 50000 Cage	
12 - 50100 Spring	
12 - 50200 Ring	
12 - 50400 Angle Cage	
12 - 50600 Stud ferrule	
12 - 50760 6-32 Hex base stud	
12 - 50700 10-32 Hex base stud	
12 - 50860 6-32 Hollow thd. stud	
24 - 50800 10-32 Hollow thd. stud  12 - 51550 Cage/Cage	
12 - 51630 Cage/Thrd. stud             12 - 45580 Transformer clip
12 - 52210 Cage/Buss bar clip         12 - 52260 10-32 Hex stud	  
  1 - 40400 Crimping/Rod cutter      12 - 52340 10-32 Spring 	
  1 - 40436 Combo ratchet set 1/4” x 5/16”

Part Number: 41815	
Description: Ignition terminal & tool kit	
Packaging: Sturdy hinged plastic box	
Includes: 
24 - 50000 Cage	
24 - 50100 Spring	
24 - 50200 Ring	
24 - 50300 Split ring	
24 - 50400 Angle cage	
24 - 50450 Right angle cage	
24 - 51000 Ferrule/Ferrule	
100-50900 Eyelets	
  1 - Crimping tool


